STATE OF NORTH CAROLINA DEPARTMENT OF TRANSPORTATION **HIGHWAY DIVISION 13**

PROPOSAL

DATE AND TIME OF BID OPENING: SEPTEMBER 7, 2022 AT 2:00 PM

CONTRACT ID: 11995244

WBS ELEMENT NO.: 13.101111, 13.201111, 13.101211, 13.201211, 13.105711, 13.205711,

13.105911, 13.205911, 13.106111, 13.206111, 13.108111, 13.208111,

13.110011, 13.210011

FEDERAL AID NO.: TBD

COUNTY: BUNCOMBE, BURKE, MADISON, MCDOWELL, MITCHELL,

RUTHERFORD, AND YANCEY COUNTIES

TIP NO .:

N/A

MILES:

N/A

ROUTE NO.:

VARIOUS

LOCATION:

VARIOUS PRIMARY AND SECONDARY ROADS

TYPE OF WORK: RAPID DEPLOYMENT RETAINING WALL CONSTRUCTION

UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BONDS ARE NOT REQUIRED.

GUARDIAN RETENTION SYSTEMS NAME OF BIDDER

116 CABIN CREEK Brooks 40109 DRIVE KY

ADDRESS OF BIDDER

NORTH CAROLINA DEPARTMENT OF TRANSPORTATION BID FORM

Contract Number:

11995244

TIP Number:

N/A

FA Number:

TBD

WBS Element:

13.101111, 13.201111, 13.101211, 13.201211, 13.105711, 13.205711,

13.105911, 13.205911, 13.106111, 13.206111, 13.108111, 13.208111,

13.110011, 13.210011

Description:

Rapid Deployment Retaining Wall Upon Request

County:

Buncombe, Burke, Madison, McDowell, Mitchell, Rutherford, and Yancey

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Emergency Mobilization	6	EA	\$9,922.50	\$59,535.00
2	SP	2' Rapid Deployment Retaining Wall	300	LF	\$251.87	\$75,561.00
3	SP	3' Rapid Deployment Retaining Wall	2000	LF	\$326.59	\$653,180.00
4	SP	4' Rapid Deployment Retaining Wall	300	LF	\$401.45	\$120,435.00
5	SP	Concrete Pump	15	DAY	\$3,807.50	\$57,112.50

TOTAL BID FOR PROJECT:	\$965,823.50
Contractor: GUARDIAN RETINTION SYSTEM: Address: 116 CABIN CREEK DRINE Brook	5, 66C
Phone: 50? 379 4517 Federal Id: _ Contractor's License Number: 98381	
Authorized Agent: BEAV ADAMS Signature: Seum Adams	Title: MANAging Member Date: 26 Avg 2022

STATE OF NORTH CAROLINA DEPARTMENT OF TRANSPORTATION **HIGHWAY DIVISION 13**

PROPOSAL

DATE AND TIME OF BID OPENING: SEPTEMBER 7, 2022 AT 2:00 PM

CONTRACT ID: 11995244

WBS ELEMENT NO.: 13.101111, 13.201111, 13.101211, 13.201211, 13.105711, 13.205711,

13.105911, 13.205911, 13.106111, 13.206111, 13.108111, 13.208111,

13.110011, 13.210011

FEDERAL AID NO.: TBD

COUNTY:

BUNCOMBE, BURKE, MADISON, MCDOWELL, MITCHELL,

RUTHERFORD, AND YANCEY COUNTIES

TIP NO.:

N/A

MILES:

N/A

ROUTE NO.:

VARIOUS

LOCATION:

VARIOUS PRIMARY AND SECONDARY ROADS

TYPE OF WORK: RAPID DEPLOYMENT RETAINING WALL CONSTRUCTION

UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA, NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BONDS ARE NOT REQUIRED.

Buckeye Bridge, LLC

NAME OF BIDDER

654 Buckeye Cove Road / PO Box 1367, Canton, NC 28716

ADDRESS OF BIDDER

NORTH CAROLINA DEPARTMENT OF TRANSPORTATION BID FORM

Contract Number:

11995244

TIP Number:

N/A

FA Number:

TBD

WBS Element:

13.101111, 13.201111, 13.101211, 13.201211, 13.105711, 13.205711,

13.105911, 13.205911, 13.106111, 13.206111, 13.108111, 13.208111,

13.110011, 13.210011

Description:

Rapid Deployment Retaining Wall Upon Request

County:

Buncombe, Burke, Madison, McDowell, Mitchell, Rutherford, and Yancey

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Emergency Mobilization	6	EA	50,000	300000
2	SP	2' Rapid Deployment Retaining Wall	300	LF	1200	360000
3	SP	3' Rapid Deployment Retaining Wall	2000	LF	1500	3000000
4	SP	4' Rapid Deployment Retaining Wall	300	LF ,	2000	1,00000
5	SP	Concrete Pump	15	DAY	2000	3:30,000
					a	8 .
					 	

TOTAL BID FOR PROJECT: #	4,	290	1000
--------------------------	----	-----	------

Contractor: Buckeye Bridge, LLC				
Address: 654 Buckeye Cove Road / PO Box 1367, Canton, NC 28716				
Phone: (828) 648-4511	Federal Id: 46-1799589			
Contractor's License Number: 72900				
Authorized Agent: Christopher K. Britton	Title: Managing Member			
Signature:	Date: 9/7/2022			